- Stadt — Land - Fluss

Lineare

Quadratische

Lineare 1y — g(x)

Quadratische

Analysis

x+3=6

3x?—47 =1

xX+2y=4

13x2-y=1

Skizze

y+y+y=6

(s—3)>’=2s2-3 (s +2)

—2x+y=-3(y +x)

(x=5)>+ 3y =8x2-8(y + 2)

Nullstelle(n)

t-4=-9

(2x + 2)(3 + 2x) — (x — 3)?> = 5x

2x + 3y = 2(4y — 3x) + x

(x + 2)(3 + x) — (5x — 3)> = 5y

Skizze

4k - 4,2=16,5

X+ 2y —1+5xy=x(5y —2)

x2—6x+ 2y =1,4y — 0,7(y + x)

Nullstelle(n)

~ld=-3(d+0,5d-2%)
3 4 4

-2x+ 2y =-7T[x+1,2-(0,8 —-y)]

XX - 576 +y

18

Schnittpunkt(e)

1 5
——W=—=e2Ww+7
3 9

1 1
J—— + | Jpe—_—
- X 2y .

(x—4)>=121y — 4x

Skizze

3x+27=5+7x

IX+7y=-22[x+1,2-(-y+Xx)]

(7x + 18)2 = 225y

Nullstelle(n)

—4n +2(n-16)=-3

z2-10z+16=0

3x+5y =5y — (x+x-y+2y)

x2—10x + 16y = —x(x + 6) — y

Skizze

-4 +3x=-1+5x

2rr+6r-20=r

3x+0,4y =19 + x

13x2 -y =1-2y + 2(x® - 3y)

Skizze

5(2 — 4x) + 2,1 = 5+ 7,3x

(a+3)2=816

-5,5x — (3y — 6) = -9(y + 8) + x

(x — 5)% + 19y = 3x* — 8(y + 0,7)

Skizze

17 + 20a = 237 * (-12a)

(x — 4)? = 121

225y = 20(41y — 33x) + 111x

(x +21)(73 + 3x) — (x — 6,6)% = -8y

Nullstelle(n)

2(3-2x) +3x=-5

—3e? + 33e =90

X+2y—-1+8y=x(8-2)+4-+3y

5x? — x + 65y = 10y — 7(3 + 2x)

Schnittpunkt(e)

b?+ 12b + 36 = 81

6 _ 101
-~ X+ty=-—(y+5x)

S5y+ 10x% _
T 57 + 1,6y

Schnittpunkt(e)

h? - 14h = -33

(x = 0,6) = 11y — 3x + 12,4

Skizze

_li2+'=_2
7 7

6 _ 5.2
—Hx+6y—0,8——ﬁ(gy+0,8x)

5(x + 3)2 =25 + 5y

Nullstelle(n)

—5x = 3(-2x — 2) + 2 + 2x

3c(c+1,1)—(10-¢)=9,9 + 2¢

-3x+y =17y — (0,5x + 2x + 2y)

x?—10x + 16y = —x(x + 4) + 7y

Skizze

4x+2=2x+10

(3g + 4)2 = 121

7x + 99y = 440 + 55x — 97y

13x% —y = 11 + 5(x — 5y) — 5x + 5x?

Schnittpunkt(e)

3f+1+4f =4f+9 - 3f

x2+6x=13

—x+7y=-3(1,1y +7,4x) — 3

(0,4x — 5)>+ 3y = 7x2— 8(y + 2)

Skizze

7x+7-3x=23

9r? — 24r + 16 = 121

6,4(4,3y — 3,8x) + x = 7(4x + 8y)

(4x + 25)(37 + 7x) — (x — 3)> + y = By

Nullstelle(n)

5,7x = —(4x + 1)(7,7 - 0,8)

—7c2-81c =44

-2y — 1 + 6x + 8xy = 2x(4y — 2,7)

0,7(7x%> - 21x + 63y) = 4y — 8(7x + 3,5)

Skizze

-3(a-2)=2(3a+6)

(2h +7)>= 169

—6[x + 82 — (77-y)] = x + 12 - 33y

(-31-x)+9y*=—(4x + 7)* + (3y)*—y

Schnittpunkt(e)

1 - 5x
-3 x(5,23x — x) = — o

“fee =243 11K - (2K
3 9 10 10

1(y+ xz) 2(6y+ 6x2) x+6y
+ = + -
4(y+x2) 3 64 + 6y 8

Skizze

4+10d =124

(2e —5)>=e(e-9) +19

y = 5 1
Zry=-7A(y+5x)

(x + 16)> = 196y + x * x + 3x * 5x

Nullstelle(n)

1 _ 5
—§v+0,5v-5v—4;

5 _ o1
5~ (89 +20q) = 7-g*

3x+4y =5y —(x+x-y+2y)

6x? — 10x + 16y = —x(x + y) + xy

Skizze

3(-2-p)=-2p+4

—3b?-2b-3=0

2,1(4,8y — 5,7x) + x = 36x + 45y

(x = 3)(=3 + x) - (23x — 8)> = 49y

Nullstelle(n)

52-10+7z-11=3
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4d? — 28d + 49 = 169

0,5[2(4y — 3x) +4x] =2x + 2,2x -y

—Seitel von'l

132 -y =—[-1(x+y)] + 15

Skizze
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